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SECTION - A (6x1=6)

1. Tick (V) the correct answer.
(a) In which of the following numbers does the digit 8 have the greatest place value?

(i) 8350 (ii) 9358 (iii) 7852
(b) The face value of underlined digit in 9718 is
(i) 90 (i) 9 (iii) 900

(c) How many X symbols are needed to represent the sum 25+14=39 in Roman Numeral system?
(i) 5 (i) 6 (iii) 7

(d) There are 3455 fiction books and 2132 non-fiction books in a library. How many total books are
there in the library?

(i) 5587 (i) 5857 (iii) 5578
(e) The numbers XX, XXXVI and V in ascending order are:
(i) V, XXXVI, XX (i) V, XX, XXXVI (iii) XX, V, XXXXVI
(f) The greatest number formed by using 6,7,1,5 is:
(i) 1756 (i) 6157 (iii) 7651
SECTION-B (8x1=8)

2. Fill in the blanks.
(@) The short form of 800 + 20+ 7 is
(b) VI+VI= :
(c) 8690, 8790, 8890, ___,9090.
(d) 9267 ( )9276
() XXIV( )XXXIV
(f) 3590, ___, 3610, 3620, 3630.
(g) 7900, 7901, 7902, 7903, ___.
(h) 2341 () 2341

SECTION - C (7x2=14)
3. Add.
@ThHT O (b)Th HTO
3 25 3 7 429

+ 412 3 + 1 675




4. Write the number names of the following numbers.
(a) 8937-
(b) 3007-
5. Arrange the following numbers in the ascending order.
(a) 7298, 7290, 7920, 7029
6. Arrange the following numbers in the descending order.
(a) 2932, 2253, 2523, 2325
7. Round off to the nearest hundreds.
(a) 726
8. Write the expanded form of the given numbers.
(a) 8880 -
(b) 6785
9. Write the words in numbers.
(a) Six thousand eighty-seven.
(b) Five thousand three hundred fifteen.

SECTION -D (4x3=12)
10. Solve the following.
(a) 3456 + 213 + 23 (b) 1521 + 312 + 35 (c) 1999 + 3250 + 2785
11. Round off the numbers to the nearest tens and estimate the sum. Also, find the actual sum.

(@) 112 + 92
12. World Problem.
(a) A fruit seller has 128 mangoes and 243 oranges. Estimate the total number of mangoes and
oranges (to the neatest tens). Also, find the actual number.
(b) A truck carries 1275 kg rice and 1585 kg wheat. What is the total weight of rice and wheat carried
by truck?



